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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an —--—-------- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an ——e—eeeeee in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ----=- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy Kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience -----aeaeev for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ------------
himself from the destructive hole he now finds himself in.
1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found -----eveue- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and --
sun and the wind.

-— from years of being out in the

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey fo study the --------- --- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is t00 —=-emeeeeeee an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial



Y axio 806A (1149) 05 = oyl ! il s L)

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) ---===--——--, They found a temporary
enhancement of spatial-reasoning, (14) ----=c-meee spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ========—==- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Aequian is an extinct language presumed spoken by the people the Romans
termed Aequi and Aequicoli living in the Alban hills of northeast Latium and the
central Apennines east of them during the early and middle Roman Republic: that is,
approximately from the 5th to the 3rd ¢. BC, when they were defeated by the armies of
Rome and were subsequently Romanized. As the area was heavily colonized by Latin
speakers from Rome, most of the inscriptions from there are in Latin. Two undated
inscriptions appear to be in a different dialect, termed Aequian by the scholars with the
presumption that in fact they represent the language of the entire pre-Roman tribe. Not
enough text survives to deduce any more than that it belonged to the Italic branch of
the Indo-European language family. Aequian is scantily documented by two
inscriptions. Conway's publication of Italic inscriptions adds a gloss, several place
names and several dozen personal names, but it does not distinguish which of these are
certainly endonyms and which are Latin exonyms in use by the Latin-speaking
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17-

18-

19-

20-

population. It is possible that they would have been the same in both cases. but such a
hypothesis remains unproven. The Inscription of Alba Fucensis a bronze plate
inscribed with ALBSI PATRE. Conway reconstructs the first word as albe(n)si, a dative
case. Baldi translates the text into Latin as A/bano patri. two datives, and into English
as "To the (god named) Alban Father." The second document is the Inscription of
Cliternia (Capradosso) in Petrella Salto, an inscribed stone in a spring dissociated from
context by nature (it rolled down a hill). The text is a notice stating that the road is
private, passage by permission of Titus Umbrenus, son of Gaius, but beasts of burden
are forbidden.

The passage mentions that —--—e-ceeeeeee,

1) glosses are usually about place names and personal names
2) ALBSI PATRE means "To the (god named) Alban Father"
3) Romans living in the Alban hills speak in Aequian today

4) undated inscriptions are often developed in regional dialect
It is stated in the passage that Aequi and Aequicoli ~—=--mmeeeues,
1) were defeated by the armies of Rome in the 3™ ¢. BC

2) appeared on a gold plate inscription in Petrella Salto

3) speak in a major dialect of the Indo-European languages

4) lived on the central and eastern Apennines mountains

The *second document’ in the passage (underlined) -----eeeeeenees,

1) is about strong beasts of burden 2) springs from an inscribed stone
3) slowly rolled down a steep hill 4) is a notice about a private road
The word ‘they’ in the passage (underlined) refers to —--—-eememmeeme,

1) place names and personal names 2) endonyms and Latin exonyms

3) Latin-speaking population 4) Aequian inscriptions

The word ‘presumption’ in the passage (underlined) is closest to ——--——-=-enev,

1) *exhibition’ 2) “proof” 3) “belief 4) “extinction’
PASSAGE 2:

The Nostoi ("Returns") is a lost epic of ancient Greek literature. It relates the return
home of the Greek heroes after the end of the Trojan War. In current critical editions
only five and a half lines of the poem's original text survive. For its storyline we are
almost entirely dependent on a summary of the Cyclic epics contained in
the Chrestomatheia attributed to an unknown "Proklos" (possibly to be identified with
the 2nd-century-AD grammarian Eutychios Proklos). A few other references also give
indications of the poem's storyline. At the poem’s opening the Greeks are getting
ready to set sail back to Greece: the goddess Athena is wrathful because of the Greeks'
impious behaviour in the sack of Troy: Agamemnon waits behind, to appease
her: Diomedes and Nestor set sail straightaway, and reach home safely: Menelaus sets
sail, but encounters a storm, loses most of his ships, lands in Egypt and is delayed
there for several years: and Other Greeks, including the prophet Calchas. go by land
to Kolophon, where Calchas dies and is buried. As Agamemnon is getting ready to
sail. Achilles' ghost appears to him and foretells his fate. Agamemnon makes a
sacrifice and sets sail anyway: Neoptolemus, however, is visited by his grandmother.
the sea-nymph Thetis. who tells him to wait and make further sacrifices to the
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gods. Zeus sends a storm against Agamemnon and those accompanying him at
Athena's request. and the lesser Ajax dies on the Kapherian rocks on the southern end
of Euboia. Neoptolemus follows Thetis' advice and goes home by land: in Thrace he
meets Odysseus at Maroneia, who has travelled there by sea. Neoptolemus arrives
home, though Phoenix dies en route, and there he is recognised by his
grandfather Peleus.

It is stated in the passage that —-—-eceeeeee,
1) Euboia is away from Kapherian rocks
2) Thetis is Neoptolemus™ grandmother
3) Calchas buries Diomedes and Nestor
4) Achilles' ghost go by land to Kolophon

The passage mentions that we are dependent for the storyline of the Nostoion

1) a few quite unknown references

2) several summaries of the Cyclic epics

3) critical editions the poem's original text

4) possibly the grammarian Eutychios Proklos

The word ‘he’ in the passage (underlined) refers to ----—---e-eeeuv,

1) *Zeus’ 2) *Odysseus’ 3) “Neoptolemus®  4) “the lesser Ajax’
All of the following about the opening of the Nostoi are correct except that —-—-eeceeeeeeee .
1) the wrathful Athena is trying to the sack Troy

2) Diomedes and Nestor set sail straightaway

3) the prophet Calchas, goes by land to Kolophon

4) Menelaus sets sail, but encounters a storm

The word ‘appease’ in the passage (underlined) is closest t0 —--—eeeeeeeeee .
1) *discuss’ 2) *arrest’ 3) “calm’ 4) “disturb’
PASSAGE 3:

Elymian is the extinct language of the ancient Elymian people of western Sicily. Its
characteristics are little known because of the extremely limited and fragmentary
nature of the surviving texts. The origins of Elymian and its relationships with other
languages are unclear. It is widely believed to have been part of the Indo-
European language family, but even that is uncertain. Within the Indo-European
languages. it has been speculated that Elymian was related to either the Italic
languages or the Anatolian languages. Only a handful of Elvmian texts have survived,
dating from between the 6th and 4th Centuries BC. These comprise: a few proper
names recorded by non-Elymian sources: inscriptions in Greek alphabet on several
coins, which include the names of Elymian cities: and inscriptions in Greek alphabet
on about 170 fragments of pottery. These texts have been identified as Elymian, based
on their evidently non-Hellenic characteristics, location and age. The majority of
textual artifacts are very short and fragmentary, comprising only a few letters. A small
number of longer texts apparently contain a personal name and may have been
dedicatory gpigraphs. They sometimes appear to resemble Hellenic dedicatory
epigraphs. in which an anthroponym in genitive form is followed by a verb literally
meaning "l am" in order to convey "belonging". A vase found at Montedoro, around
15 km southwest of Palermo. features one of the few complete inscriptions in Elymian.
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Proposed classifications the Elymian language can be summarized under two main
positions, both of which relate it to Indo-European languages. Some historical
linguists agree that some peculiarities of that language — like non-alphabetic symbols
engraved on some dedicational fragments of pots. and genitive in -ai found in almost
all the complete sequences — are suggestive of a connection to the Anatolian
languages. and in particular. to Hittite.

The passage mentions that one of the few complete inscriptions in Elymian are
1) spread in eastern and western Sicily 2) recorded on 170 pottery fragments

3) found on a vase at Montedoro 4) in ancient Italic languages

It is stated in the passage that Elymian -----e-cceeeees,

1) is possibly related to the Anatolian languages

2) has clear origins with other languages

3) is the origin of several Indo-European languages

4) survives is a large number of texts

We may understand from the passage that ——--eeeeeeeeee,
1) fragmentary artifacts are “textual’

2) Anatolian is a sequential language

3) pot fragments are all in genitive -ai

4) Hittite has non-alphabetic symbols

The ‘Elymian texts’ the passage refers to (underlined e
1) often appear as non-Hellenic dedicatory epigraphs
2) were usually seen as inscriptions on Greek coins

3) are recorded as Elymian and non-Elymian sources
4) have non-Hellenic characteristics. location and age

The “epigraphs’ in the passage (underlined) appear -----------—--- of a text.
1) "near the end’ 2) "at the beginning’
3) “in the middle’ 4) *at the end’
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